LR C 316

Third Year B.Com. Examination, April/May 2012
BUSINESS STATISTICS
(SIM Scheme)

Time : 3 Hours Max. Marks : 90
PART -A
QN — YN

Answer any three questions. Each question carries 15 marks : (3x15=45)

CIRTYTIVNTTR WRT TINYR G802, BB TINe 15 wosnsd:
Y - S
1. Calculate mean, median and mode from the following data.

BT B30 TEY0BROTS FTIRD, SIGT 08 WBILBNFR) FOROZRC0.

Wages per day (as@aocse&m@) No. of Workers (F0zmoT))
99.5-119.5 05
119.5-139.5 20
139.56-159.5 24
159.5-179.5 48
179.5-199.5 32
199.5-219.5 25
219.5-239.5 22
239.5-259.5 39
259.5-279.5 26
279.5-299.5 09

N =250

P.T.O.
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2. A study by Bhujanga Transport company on the effect of bus ticket-prices on the
number of passengers produced the following results.

OROM 30,7 TR LT BOTAOTTO, WA £38eedd BT &0,037E88T B0, o sdeeS et
TOFTRT L,0TD L5030 83 FINS FOBo0BNIRO, TRTSR BRI,

Ticket Price

w@wj =0 25 |30 (35 (40 (45 |50 (55 |60

Passenger Per 100 km

800 | 780 | 780 660 |640 (600 |[620 |620
38100 8.20. Fearedecd

Fit a straight line trend by the method of least squares for the above data. Show
the actual and trend line on a graph sheet. Estimate the number of passengers per
100 Km of the ticket price as Rs. 65.

TR N DTTOOT 20T 6T Beato T3 0B eI Beg0T, e¢esier, Dewemwss Sess
=08 TIPS 6@9371%3?% MFT TP Sreda. 386t 0 65 Tr. ﬁ@cxgﬁ 3036580
ﬁo@ﬁeswa?% %6100 3.20.7% 200023

3. Calculate Karl-Pearson’s Co-efficient of correlaiton from the following data and its
probable error.

3YB0T T290BNPOT T £ LECVT R TeC A% ROWOT rbmo%dﬁg{ FOROEEBC0 08
R0LIRIOD 355)2{50@330@03&@.

X 53 |66 |30 |48 50 |44 (45 38 |46 (58

Y 42 156 (43 |30 |41 42 |40 36 |44 |50

4. Define the term statistics. Explain the scope, functions and distrust of statistics.
ROITTIRFR 539, 2T9,DR. BOTYTORLEI 2R, FOOIF T 3B LB 0LIECIIRY QO
I A4 33 B S s =3

5. Distinguish between primary data and secondary data. Explain the different methods
of collecting primary data.

TRTRT TR 0T £,2eCD TWRMINT FTHANIR SPR. T8 A RO 8R0S
A a@sﬁgﬁs& QWOR.
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PART -B
W— N

Answer any three questions. Each question carries ten marks : (3x10=30)
CINYTITITR FoRT TINEN LVZ0R. FSTINe 10 ©osnshd:
e - 2
6. Calculate cost of living Index from the following data by family budget method.

ROROT SODEZ,0D DIFTY ISNT T2 0T, ReD =, ;‘o’xazaaéoﬁdag BOTBEIOD0.

Commaditics Price Rs. — zﬂcj’(dra) weight — 303
BTOTENED 2008 — 2011

Food — ¢330 40 — 60 5

Fuel - 058 39 - 72 1

Clothing — uéi 30 45 4

House Rent — 08 R | 25 30 3
Miscellaneous — 933¢ 26 30 1

7. From the following data calculate the value of 'y’ when x = 12

=76 y=148 o,=36 o©,=25 r=08
X- 30300 12 9Tn 'y’ & 380D FomIRD.

8. From the following calculate Bowley’s Co-efficient of skewness.

BT B30 TEY0BMIYOTs LFPSONRT DHRBIFOD MOFDOTRI), FOTEOZRC0.

X 25 |75 [125 [150 175 |200 | 225 |250 |275

f 7 8 10 (30 |40 |25 |10 |7 3
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9. Estimate the Index number for the year 2012 by using Binomial Method from the

following data.

BINT T 0300T LJTO0IS LTPIZI) ¥2 2012 T B2 08332 F0mOZERC0.

Year

2007 | 2008 | 2009 | 2010 | 2011
=R
Index No. | o0 1378 471 |478 |ags
2 g od

10. What is statistical enquiry ? Briefly explain the steps to be taken in planning a

Answer any three questions. Each question carries five marks :
OIRFYTINTTR WORTO TINYR SVZ0R. B3 TIN5 Wosnwd:

X - =)
11.
12.
13.

14.

15.

statistical enquiry.

0335 0T ? 0,3 IR0 STRIN IR T BT HROR.

PART-C
2 — TN

State the different parts of statistical table.

0B TeI0 03T B2

Write a note on methods of classification.

RNCETTOT DHNS wrj\ £33 230000.

Briefly explain the components of Time Series.
FOO 3 ee0 IR A0FTTam0N QOR.
ERRN:

Explain the measurement of attributes through Yules method.

(83x5=15)

ONRCFTRT DGRHOT @é@—-i @ﬁf@ﬁ@? #ooﬂmeméoﬁﬁ& TETY E9B03VTIT ? DO

Compute G.M. of the following :

S9N D058 MOFREZS0 F0PR0 BomEREOND.

85, 850, 341, 0.07, 8.34.




